> A
A & 0l & AF 2 E A A
20168 & =0l & L BHSIH = QI 0K o It
A el Zoel
M B2)|® LeME XY
t¢elr 25X Mbla X& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
L OV ZHOH o1 It 487,446,155 471,849,924 15,596,231
= 424,095,594
J| 1,349,472
< 62,001,089
2O sME X 386,048,043 378,221,075 7,826,968
= 342,684,505
J| 1,332,972
< 42,030,566
L=57X HHA X&A 364,200,393 356,996,909 7,203,484
= 338,608,707
J| 1,332,972
= 24,258,714
COFHMAENSER =& 21,800 23,000 A1,200
201 et 18,000 18,000 0
01 At 22l 18,000 18,000 0
Ot & ==ZHl 18,000
203 YR =&l 3,800 5,000 A 1,200
03 AIHF=XH R =AH| 3,800 5,000 A 1,200
O FMHAFRFA 3,800
d2Y 294 XA (01Y) 108,837 108,400 437
308 XXM SO0l A 108,837 108,400 437
01 IXNHHBNEES 108,837 108,400 437
OZ=g29Hl XA (01Y) 108,837
d2Y duety|(2=2H) X 4,496,616 4,476,720 19,896
= 3,910,100
< 586,516
308 XXIEHH SOl A 4,496,616 4,476,720 19,896
= 3,910,100
< 586,516
01 AXHHILEES 4,496,616 4,476,720 19,896
OZ=2Y YWutghy|(Z3H) A& 4,496,616
= 3,910,100
< 586,516
Z2Y ZEXNJMEH 22 276,126 281,250 A5, 124
= 138,063
< 138,063
307 gl2tol & 276,126 281,250 A5, 124
= 138,063
< 138,063
11T AS S RAEE = 276,126 281,250 A5, 124
OZ2Y ZAXJAdH =294 276,126
= 138,063
< 138,063




AN el 04t

M B2)|® LeME XY
o2l =X MElA & (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z2Y =3 T )Y 22/ed X 70,861 68,071 2,790
308 AHAIEHHSOIA 70,861 68,071 2,790
01 HXNHHBHELS 70,861 68,071 2,790
Od2Yg =3 Tz &gz X 70,861
9988 &= Lt=0l 1,748,590 1,601,839 146,751
307 glz2tol & 48,000 48,000 0
11T M SXAISE EX 48,000 48,000 0
09988t s L= sty 48,000
308 XtXIEHHSOIA 1,700,590 1,553,839 146,751
01 X HHILEES 1,700,590 1,553,839 146,751
09988 S Lt 0l AL 1,700,590
LolEsSAMEIA 7,039,897 6,074,375 965,522
= 6,237,886
< 802,011
308 MXIEHSOIH 7,039,897 6,074,375 965,522
= 6,237,886
< 802,011
01 HXNHHNBHELS 7,039,897 6,074,375 965,522
OokelssilaMtdl A 3,669,340
= 3,251,314
< 418,026
OEIIJALA Bl 2 110,372
= 97,800
< 12,572
OLosEs8MUIA(HIRA) 3,062,685
= 2,713,772
< 348,913
OSAH U FRCSIAISE ALY 197,500
= 175,000
< 22,500
SNk - SEHMLY SSAHESENANLE 29 562,766 432,421 130,345
J| 468,972
= 93,794
308 XtXIEHH SOl A 562,766 345,301 217,465
J| 468,972
= 93,794
01 HXNHHMBHELS 562,766 345,301 217,465
O=ENLo - ZSZZML SSHAESZE0IAIAE
2o 562,766
J| 468,972
< 93,794
Ao 224 AMY X2 (01Y) 195,500 195,500 0
308 XtXIEHH SOl A 195,500 195,500 0
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el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 195,500 195,500 0
OZZAMLR2ZZAAI (012) 94,500
OMASTHI = QLA AR AL (01 2F) 101,000
SIS =EN2 28 N 655,875 602,090 53,785
307 gl2tol & 655,875 602,090 53,785
05 BIZHRI & 3 655,875 602,090 53,785
OFE=segs2 28X 655,875
Heteolsl s=20gs 2SN 203,600 185,200 18,400
307 glz2tol & 203,600 185,200 18,400
11T M SXASEX 203,600 185,200 18,400
OUgtcls s5Hgs 29X 203,600
Lo=EXI2 BAX HEAHAF 5,500 5,500 0
307 glz2+ol & 5,500 5,500 0
11T MISXASEX 5,500 5,500 0
OS2 SAA P AZ 5,500
ot XN (=8g ) 28,798 19,776 9,022
= 10,506
= 18,292
101 @124l 28,798 19,776 9,022
= 10,506
< 18,292
03 RIAHA2ZZ2HE > 28,798 0 28,798
OkLoldRtiel dgelsd dxtel 28,798
= 10,506
< 18,292
S olY Rl K& 19,571,951 17,164,801 2,407,150
= 17,376,045
< 2,195,906
308 X EHHSOIA 19,571,951 17,164,801 2,407,150
= 17,376,045
< 2,195,906
01 HIXNHHBNEES 19,571,951 17,164,801 2,407,150
OS2 (=2 ,904) 0
OLQAMSESX2 (KNGS, 900d) 12,086,976
= 10,988,160
< 1,098,816
OLoMBESX (2, 12HE) 5,352,960
= 4,460,800
< 892,160
OLQAMIESXR (UM HAEH) 66,247
= 60,225
= 6,022
OLQMNIESNNR (SSEHSEH) 0




- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OLQAMIESKH(MESHHEYE - 2=s2AH) 1,104,400
= 1,004,000
= 100,400
OLQAMNSESRNRA (AN =3I 2AFSISH) 877,341
= 797,583
& 79,758
OLQANIESKNH (LA ES E-4d3tU3]) 0
OLQANE=XN(2UEHE) 27,160
= 13,580
& 13,580
OLQAMNSESRNS(HHY QCIHEIE) 56,867
= 51,697
& 5,170
C ol X2l K& (KA 717,943 615,000 102,943
201 LBt Y| 12,000 12,000 0
01 AP 22| d| 10,000 8,000 2,000
Orogdxiel &0 ASH =& 8,000
OLolgdxtel g8 2 &d| 2,000
03 Al A H| 2,000 4,000 A 2,000
Orodxie &0 oAsA 2,000
202 044l 3,000 3,000 0
01 2L Y| 3,000 3,000 0
OokoldXiel &I ASH =& 04| 3,000
307 2Iz2t0| & 20,000 0 20,000
11T AISIEXAIEEX 20,000 0 20,000
(09988 = X201 stote 20,000
308 XAXIGHHM SO0l & 682,943 600,000 82,943
01 AIKISHHENEXZ 682,943 600,000 82,943
orodxiel2d (XA 682,943
AMLIOHE2E &XH X 50,000 50,000 0
403 XX S M S K201 & 50,000 50,000 0
01 MHXSHAHXNE2E X 50,000 50,000 0
OAMUONWZ2E &X4 X& 50,000
XOHAEHEH 29 (01Y) 5,800 5,800 0
308 XAHXIEH SO0l A 5,800 5,800 0
01 AIXSHMENMNEX= 5,800 5,800 0
OXASHEH 2H(01Y) 5,800
XWX S 2eld (2Hbl) X 587,600 562,900 24,700
J| 452,000
& 135,600
308 XHXIGH SO0l & 587,600 562,900 24,700
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 452,000
< 135,600
01 IXNHHBNEES 587,600 562,900 24,700
OXlhxz2eldl (M) XI& 587,600
J| 452,000
< 135,600
XOHER ssHE XA 151,400 176,239 A 24,839
308 XtXIEHHSOIA 151,400 176,239 A 24,839
01 AXHHILEES 151,400 176,239 A 24,839
OXlHex =ssHE X 151,400
NHESE LANLXA 48,000 48,000 0
307 21201 A 20,000 20,000 0
11 ALS S RALEE = 20,000 20,000 0
OXIOh - 53 LAMNEXH 20,000
308 XXM SOIA 28,000 28,000 0
01 IXNHHBNEES 28,000 28,000 0
OQRXMe Tz 29 28,000
ZAXNM2SEXNIEH 2 589,000 600,000 A 11,000
J| 412,000
< 177,000
307 21201 A 589,000 600,000 A 11,000
J| 412,000
< 177,000
02 LB AAFEX 589,000 600,000 211,000
OSE=E ZIAXMdH 22X 589,000
J| 412,000
= 177,000
COISAESXA(0Y) 6,000 6,000 0
308 MtXIEHSOIH 6,000 6,000 0
01 HXNHHBHELS 6,000 6,000 0
OLossSAESKIE(01Y) 6,000
=43 326,284,202 322,930,782 3,353,420
= 310,936,107
= 15,348,095
308 XXM SO A 326,284,202 322,930,782 3,353,420
= 310,936,107
< 15,348,095
01 HIXNHHBNEES 326,284,202 322,930,782 3,353,420
OJIxz4¥3 326,284,202
= 310,936,107
< 15,348,095
S ALY 10,000 10,000 0




L QI ZOH o It
20| =43 XA
==X AHA~ K& (&)
SA - BB B () - MM - BES Ol &t o San HmEET
308 X EHSOIA 10,000 10,000 0
01 HIXNHHBHNEELES 10,000 10,000 0
OSIStHSsLHAY 10,000
Uet=0ls AIZX3 AR=s 2EXE 63,661 60,871 2,790
308 XXM SO0l A 63,661 60,871 2,790
01 IXNHHBNEES 63,661 60,871 2,790
Otgt-elsl AIZXa A= 2EX & 63,661
SOIFEIYI2 WIS X (01) 700,070 679,900 20,170
308 XtXIEHHSOIA 700,070 679,900 20,170
01 X HHILEES 700,070 679,900 20,170
LoIQAIR THIIS O XA (01L) 541,440
OMI-o=EXAE 22 XA (01) 158,630
Lo=EXANE XA 21,847,650 21,224,166 623,484
= 4,075,798
< 17,771,852
SAMAIE EXXE AY 1,610,000 444,500 1,165,500
= 1,610,000
403 XM E =0l & 1,610,000 444,500 1,165,500
= 1,610,000
01 XM A=2EE 1,610,000 444,500 1,165,500
OTEd ZAALE &3 1,610,000
= 1,610,000
CSIAANE JIsEH 1,013,675 1,550,481 A 536,806
= 779,750
< 233,925
403 XSS X201 & 1,013,675 1,550,481 A 536,806
= 779,750
< 233,925
01 AXSHMA=2E X 1,013,675 1,550,481 A 536,806
OLQ=XAMNE JIsES 1,013,675
= 779,750
< 233,925
LOolMEAY XA 18,361,684 18,340,073 21,611
= 1,266,419
< 17,095,265
308 AHAIEHHSOIA 18,361,684 18,340,073 21,611
= 1,266,419
< 17,095,265
01 HXNHHNBMNEELS 18,361,684 18,340,073 21,611
OLoAZAd 29 1,429,244
= 1,266,419
< 162,825
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OLFIQAIIA AIE=S0H X 16,932,440
LOBESHEEI 2 2Y 608,326 623, 360 A 15,034
= 304,163
< 304,163
307 21201 A 608,326 623, 360 A 15,034
= 304,163
< 304,163
10 ALSISEXAIEEE2EHEX 608,326 623, 360 A 15,034
OkQEs d2J& 23 608,326
= 304,163
< 304,163
Stimloi=2 82 &H 173,500 174,820 21,320
= 86,750
< 86,750
307 21201 A 173,500 174,820 21,320
= 86,750
< 86,750
10 M2 SXNANEHE2IHEX 173,500 174,820 A 1,320
Ostthulof -2l MEHHXNA 173,500
= 86,750
< 86,750
QLUES A LA 21,296 19,936 1,360
101 @144 dl 17,616 16,256 1,360
04 JIZHHZ2XREES 17,616 16,256 1,360
Oge Bxos olAHy| 48,2803 x1H »340 16,416
O=8,18 s BEE=
16,416,000& *7.304% 1,200
201 Let2d| 1,680 1,680 0
01 At 22l 1,680 1,680 0
ORQRYESMIRFE Sl 1,680
202 4l 2,000 2,000 0
01 = LH YI 2,000 2,000 0
OQYESSMIRF=E 0l 2,000
MMOPEII 212 XIS A XHR S H A 37,329 55,996 A 18,667
= 28,716
< 8,613
308 XX EHHSOIA 37,329 55,996 A 18,667
= 28,716
< 8,613
01 HIXNHHBNEES 37,329 55,996 A 18,667
OMIMEINQAI2 XNSAASXE HAHAAMHIA 37,329
= 28,716
< 8,613
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
LOISXAIE SALL U1 10,000 10,000 0
307 2Iz2t0| A 10,000 10,000 0
11 A EXAIEEX 10,000 10,000 0
Ogol & AlE SAHA U= 10,000
LOSEIXAIE ANEEH 5,000 5,000 0]
202 04| 5,000 5,000 0
01 2L Hl 5,000 5,000 0
Okel=EXXNAE XNE=HHE o] 5,000
MO S X AA Atdl 22l EAAIAE RH 6,840 0 6,840
403 XX SRS K20 & 6,840 0 6,840
01 XIS A 2E X 6,840 0 6,840
OMIMIC=XXNE Atdl 22l HAAIAE 2= 6,840
ool EXSE 101,332,572 93,573,309 7,759,263
= 81,411,089
J| 16,500
= 19,904,983
ZHOHQI Aol & SHA 91,023,859 84,132,742 6,891,117
2 77,755,814
J| 16,500
o 13,251,545
O EHEE XA 489,615 485,578 4,037
307 QI2t0| & 489,615 485,578 4,037
11T A EXAIEEX 489,615 485,578 4,037
OHMC EE2sAMY 126,208
OXZEA0HQ XNEXNAAH 24 110,000
OZ0He HEXNRANEH 29 101,500
OQHEOYAAE AXl AFAHG 2 45,214
OXHZOHIEHOIAAE XNKAHE 29 106,693
ZOHQICH M E e KIS (XHA) 324,000 322,000 2,000
307 212t0| ™ 318,000 316,000 2,000
11 A EXAIEEX 318,000 316,000 2,000
OFL=Z0HRI0ISNHEIAXH 18,000
OUsod AMstAlY & Atg 28,000
OMILEOHS ArE & X &AM 25,000
O&elsesaHAR2A 30,000
OFoZMoe & MAEHH 29 30,000
Oz%3stnaed 17,000
OXMHUAEXSEAS 80,000
OWHE AL Al N=EHAEH 24 25,000
OFeIoY JIE A 35,000
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OE X ZEO0lo Y Al 10,000
OXMoetsZEEA 10,000
Os0telolY DS &AL 10,000

308 X SHAMSOIA 6,000 6,000 0]

01 IXHHNIMNEXS 6,000 6,000 0
OS2 RS AAY 6,000

SOHOIE XD Al 2tel AIgEEEH 29 200,000 200,000 0
= 100,000
o= 100,000

307 212t0| & 200,000 200,000 0
= 100,000
o= 100,000

11T A SXAIE E X 200,000 200,000 0
O&OMAEITI 7 Atdl2tel AMBHH 29 200,000
= 100,000
== 100,000

ZO0He MHEE2XRI|F2 & 70,500 65,309 5,191
= 60,000
= 10,500

308 AXISHXMSOoIH 70,500 65,309 5,191
= 60,000
= 10,500

01 XHNBIMNEXTZ 70,500 65,309 5,191
Q& ExXI|2 XA 70,500
= 60,000
== 10,500

ool 2 H X & 905,925 940,000 N 34,075
= 771,000
& 134,925

308 X SHAMSO0IA 905,925 940,000 N 34,075
= 771,000
& 134,925

01 IXHHNIMNEXS 905,925 940,000 N 34,075
OZofele2H| X 905,925
= 771,000
= 134,925

ool Xk sty XA 2,643 39,950 N 37,307
= 2,249
& 394

308 XX S M SO0l & 2,643 39,950 N 37,307
= 2,249
o= 394

01 AXHNBIMNEXZ 2,643 39,950 N 37,307
PSRN E =1 2,643
= 2,249
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el
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| < 394
ES=EdHA NEAEH X229 9,000 9,000 0
308 AHAIEHHSOIA 9,000 9,000 0
01 HXNHHNBHEELS 9,000 9,000 0
Os==dt7a ANEgags 4X29 9,000
AMEEHMHR THELEY 29 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
10 AL SXAIEEE2EH EX 15,000 15,000 0
OUFFOM HEMHA 29 15,000
Zojel SHUHEZ XJAS 30,000 30,000 0
307 21201 A 30,000 30,000 0
10 ALSISEXAIEEE2GHEX 30,000 30,000 0
O SHUEL XA 30,000
HOIZOHQ EBMWSI|Z AIH2I 42,000 42,000 0
308 XX EHH SOl A 42,000 42,000 0
01 HXNHHBHEELS 42,000 42,000 0
OMQIE BMDEIZ AlHS 42,000
o=+ (=) 3,520,312 3,596,239 AT5,927
= 2,707,932
< 812,380
308 X EHSOIA 3,520,312 3,596,239 AT5,927
= 2,707,932
< 812,380
01 HIXNHHNBNEES 3,520,312 3,596,239 AT5,927
OFM==(IN=x) 3,520,312
= 2,707,932
= 812,380
B+ (HaRS) 3,011,761 3,424,491 A412,730
= 2,316,739
< 695,022
308 XXM SO A 3,011,761 3,424,491 A 412,730
= 2,316,739
=) 695,022
01 AXHHBISEES 3,011,761 3,424,491 A 412,730
OB+ (XaAS) 3,011,761
= 2,316,739
< 695,022
ZOHIASZ 25,447,029 24,356,829 1,090,200
= 22,548,000
< 2,899,029
308 XtXIEHHSOIA 25,447,029 24,356,829 1,090,200
= 22,548,000




M Lol &0H el It
Hu: mojel =2XEZ
Sl Tojol HoF B CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,899,029
01 AIKISHHENEXZ 25,447,029 24,356,829 1,090,200
O&eIA= 25,447,029
= 22,548,000
o= 2,899,029
KHMEBOHCIEHOAA = XNIHEH 29(01) 19,800 19,800 0
308 ANXISHMSOIA 19,800 19,800 0
01 HXHHIMNEEXTZ 19,800 19,800 0
OXMZEOHQUEHOIAAL JIZXNIFAMAEH 29 (01 ) 19,800
H2AEHM S HEHAH =359 XN 2,000 2,000 0
201 gBt2Ad| 2,000 2,000 0
01 AP 2t 2| H| 2,000 2,000 0
OF2AAHHS THENW x3sd X 2,000
ZO0HC OlsS=S X AMHIAAIE K& 140,000 135,000 5,000
307 2iz2to| A 140,000 135,000 5,000
11T AISIEXAIEEX 140,000 135,000 5,000
OZ0Hel OlsS=EXNAMEIAAY K& 140,000
NS 2SHAMIE 29 35,920 37,621 A 1,701
= 21,130
= 14,790
308 XAHXIGHH SO0l & 35,920 37,621 A 1,701
= 21,130
& 14,790
01 IXHHIMNEXZ 35,920 37,621 A 1,701
OXMC SSAEMME 29 35,920
= 21,130
& 14,790
HAEEM XA 148,750 103,700 45,050
= 122,500
o 26,250
308 AMXISHMSOIA 148,750 103,700 45,050
= 122,500
o= 26,250
01 AIXSHMEMNEX= 148,750 103,700 45,050
OWHE AN sS4tHIE NS 59,250
= 52,500
& 6,750
O EHR WRAIS X2 50,000
= 35,000
= 15,000
OoO=sgHde X 39,500
= 35,000
& 4,500
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M HOe =2XNE5E
ol FOHOI MOIE B (S5 &)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SHE Z0HQ FEIHZAL 297,160 297,160 0
= 174,800
< 122,360
403 UHXISHHSA=0l& 297,160 297,160 0
= 174,800
< 122,360
01 HXESHMA=LE L 297,160 297,160 0
O=s0HE Z0HQ =& JHEZALEY 297,160
= 174,800
< 122,360
SSHEMHA TS ME T ALY 247,950 261,000 A 13,050
= 171,000
< 76,950
308 XXM SO A 247,950 261,000 A 13,050
= 171,000
< 76,950
01 AXHHILEES 247,950 261,000 A 13,050
OSSTMHLY TEHE2XRAEY 247,950
= 171,000
< 76,950
A& JIMNER0IAFE XI&(01Y) 27,500 27,500 0
308 XX EHH SOl A 27,500 27,500 0
01 X HHILEES 27,500 27,500 0
QWA ZM JHIAER0l AFY X3 (01) 27,500
SSHMHLY TNEH2HEH 2 150,000 175,000 A 25,000
308 A EHHSOIA 150,000 175,000 A 25,000
01 HXNHHNBHELS 150,000 175,000 A 25,000
SSHML NHEdH 28 X 150,000
ol nsH XA 44,200 38,560 5,640
308 XXM SO0l A 44,200 38,560 5,640
01 HIXNHHBNEES 44,200 38,560 5,640
O&oel wsHl X& 44,200
ZOHRUIIEXNJAEH =29 175,000 175,000 0
307 21201 A 175,000 175,000 0
05 RIZt2IE = 175,000 175,000 0
OsE=E ZUHIIEXNJAMH 24 175,000
ZES ZHQ SdEE™EX ALY 251,490 328,202 ANT6,712
307 21201 A 13,500 13,500 0
05 RIZt2IEt = 13,500 13,500 0
OzIEZZMHUEIRH FAE=+E 13,500
308 XX EHHSOIA 237,990 314,702 AT6,712
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01 AXSHHBLEES 237,990 314,702 ANT6,712
OzssZMALES 202,982
OzssZMAES 17,881
OFoel s=22IHE 17,127

AMZEOMINE HAXSS I X 10,000 10,000 0

308 XXM SO0IA 10,000 10,000 0

01 HIXSHMBAEE 10,000 10,000 0
OANLZZOHLIINE JtATSS XD K& 10,000

S MEAE A R 2,475,605 2,599,798 A 124,193
= 2,193,574
= 282,031

308 XtXIEHHSOIA 2,475,605 2,599,798 A 124,193
= 2,193,574
< 282,031

01 X HHILEES 2,475,605 2,599,798 A 124,193
OggMaMulA X 2,475,605
= 2,193,574
= 282,031

OO ESLEXA 499,107 489,417 9,690
= 349,123
< 149,984

307 gl2tol & 499,107 489,417 9,690
= 349,123
< 149,984

11 AISI S XA E = 499,107 489,417 9,690
OO0 DIEL =R 499,107
= 349,123
< 149,984

AHLY HIRH™ ALY 17,768 77,985 A60,217
= 15,744
< 2,024

308 XXM S0l A 17,768 77,985 AB60,217
= 15,744
< 2,024

01 IXNHHBNEES 17,768 77,985 AB0,217
odgg Ht+xH 17,768
= 15,744
< 2,024

LM 2Rl Y 41,868 91,766 A 49,898
= 36,960
< 4,908

308 XX EHH SOl A 41,868 91,766 A 49,898
36,960

A

4,908
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01 HIXNHHNBHNEES 41,868 91,766 A 49,898
OLEMEL Melag XA 41,868
= 36,960
< 4,908

LHHMCIIIE SAXRA 68,286 28,361 39,925
= 47,800
< 20,486

307 21201 A 68,286 0 68,286
= 47,800
< 20,486

11T MISXASEX 68,286 0 68,286
LEZOMHCIIE SAX& 68,286
= 47,800
= 20,486

LEHMS SS=AMEA Y HEEXHE X 26,058 37,410 A 11,352
= 24,240
< 1,818

308 MtXIEHMSOIH 26,058 37,410 A 11,352
2 24,240
< 1,818

01 HXNHHNBHELS 26,058 37,410 A 11,352
O33FAMHA R 19,608
2 18,240
= 1,368
OZZ3=doddeEHE K& 6,450
= 6,000
< 450

ANALSTHAXNAAH2SE 600,000 0 600,000
= 300,000
= 300,000

307 21201 A 600,000 0 600,000
= 300,000
= 300,000

11T A SXAIEE X 600,000 0 600,000
OXNSILEHMNWAUXNAHEH 29 600,000
= 300,000
< 300,000

ZHUESXNEAME 17,459,289 16,434,780 1,024,509
= 16,062,678
J| 16,500
S 1,380,111

308 XX EHSOIA 17,439,479 16,434,780 1,004,699
= 16,062,678
= 1,376,801

01 HIXNHHNBNEES 17,439,479 16,434,780 1,004,699
OZOMAESXE AL 17,439,479




SH: ol E Ol Dt
HE: ZOjY SNEH

ol FOHOI MOIE B (S5 &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 16,062,678
< 1,376,801
403 UHXSHHSA=0l& 19,810 0 19,810
J| 16,500
< 3,310
01 X SHMA2E X 19,810 0 19,810
OFelS=SLEHe AIEAY =5 19,810
J| 16,500
< 3,310
SSTL MHEE N 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0
11T MISRASEX 40,000 40,000 0
OssZe s N 40,000
A BHw=E =t 72,000 36,000 36,000
308 XtXIEHHSOIA 72,000 36,000 36,000
01 AXHHILEES 72,000 36,000 36,000
OWLZHe BMWE =Y 72,000
SSATEHOR RIS XSO0ISAS 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
11T M 2XALSE EX 30,000 30,000 0
SSAZHR AJUHE X0ISAHY 30,000
ZOCIA=AIE JIsEH 781,403 1,236,629 N 455,226
= 601,079
< 180,324
403 MtXISHHE =0l & 781,403 1,236,629 N 455,226
= 601,079
< 180,324
01 XM A=2E X 781,403 1,236,629 A 455,226
O&EUMLNFAIAL JIsEZ 781,403
= 601,079
< 180,324
ZOHAAN=AE 29 32,666,904 26,471,296 6,195,608
= 28,945,358
< 3,721,546
308 XtXIEHH SOl A 32,666,904 26,471,296 6,195,608
= 28,945,358
< 3,721,546
01 X HHILEES 32,666,904 26,471,296 6,195,608
OFMAAN=AIE 2EXA 32,666,904
= 28,945,358
= 3,721,546
ZOUH=AIE 2L(01Y) 245,095 223,700 21,395




AN el 04t
PN

M HOMC SXNSE
ol FOHOI MOIE B (S5 &)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 245,095 223,700 21,395
01 AIXSHMENMNEX= 245,095 223,700 21,395

OZoe Z=SMEIIE 29 (01) 184,119
QXL SIHFAE 2H(01) 60,976

ol I HZ=AE XS 74,400 74,400 0]
308 MXISHMSOIA 74,400 74,400 0
01 X HHIMNEEXTZ 74,400 74,400 0

OMelayg HHAHF=AIE K& 74,400

HOHRIHFAIAE EIAX AHSEEHZ XA 32,000 32,000 0
308 XAHXIEHSOIA 32,000 32,000 0
01 AIXSHMEAMNEX= 32,000 32,000 0

OFEMRUAHF=ANYE EIAX ANEHEHEZ XS 32,000

O HZT=AIE B AHE SSAHEHE ANH 18,968 18,968 0
308 XNHXIGH SO0l & 18,968 18,968 0
01 AIKISHHENMNEXZ 18,968 18,968 0

OXHMHUAAHAFTAIE H3AUE 2SHEH s XN 18,968

ZOHQIHFAIAE MEQ IHME L OIHYR 10,000 10,000 0
201 et d| 10,000 10,000 0
03 A2 Y| 10,000 10,000 0

OHOMAAHFTAIE MEO XSME L AN 10,000
HOHCIHFAIE AHUAN Ol XH 207,553 200,293 7,260
= 183,908
= 23,645
308 XX SHHSOIH 207,553 200,293 7,260
= 183,908
o= 23,645
01 AIXSHMEMNEX= 207,553 200,293 7,260
OHOMAHFTAIAE AHIYA Ol N 207,553
= 183,908
= 23,645

O HZ=AIE ALEH X AL 7,000 4,000 3,000
201 LBt ]| 7,000 0 7,000
01 AP 22| H| 7,000 0 7,000

OHOMAHFAIAL QIHAENZA 7,000

ZOHRAHFAIE ANEEEH 3,000 3,000 0
202 04d| 3,000 3,000 0
01 2L bl 3,000 3,000 0

OHOHUAHFAIALE XNE=EZH 3,000
AZISXAE HIOLAAISEE 30,000 0 30,000




SM: Lol Ef D
Mmool 2B

ol FOHOl MOE EA CEEEED
x 5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

201 ¢er24| 30,000 0 30,000

01 At 22l 30,000 0 30,000
OMSISXAIE IOt A= 30,000

ZoHel MHasXAbls Zst 10,308,713 9,440,567 868, 146
= 3,655,275
< 6,653,438

ZOjR MAZ HIHAYE 29 XA 158,500 281,771 N 123,271
2 63,400
< 95,100

307 glz2tol & 158,500 148,438 10,062
2 63,400
< 95,100

10 ALSISXAIEEE2EHEX 158,500 148,438 10,062
OO HAZTEHIHAE 28 NS 168,500
= 63,400
< 95,100

ZOHQ SXLXelAeg X 1,266,564 1,173,276 93,288
= 974,280
= 292,284

308 XtXIEHH SOl A 1,266,564 1,173,276 93,288
= 974,280
< 292,284

01 X HHILEES 1,266,564 1,173,276 93,288
OFMA=SK LRl AL X & 1,266,564
= 974,280
< 292,284

ZOHQl LBt AXClAY K& 2,540,734 2,420,584 120,150
2 1,954,411
< 586,323

308 X EHSOIA 2,540,734 2,420,584 120,150
= 1,954,411
< 586,323

01 HXNHHNBMNEELS 2,540,734 2,420,584 120,150
OFOHel Lt L RelALY XA 2,540,734
= 1,954,411
< 586,323

A2t ZO0HQIOHOFAL THA A 202,905 148,155 54,750
= 188,749
< 14,156

308 XXM SOIA 202,905 148,155 54,750
= 188,749
< 14,156

01 AXHHBISEES 202,905 148,155 54,750
OAIZZ0HQl QDAL IHA A 202,905
= 188,749




2N
e =SXsN

el

X ZH
S =

LS QIEOH Bt

T THE=SXAMEA 235t

5 - 4
SA BB (3H) - NRAY - B Ol At o %@i HRE2
| = 14,156
HOEITHEAILE DsEZ 616,766 469,616 147,150
2 474,435
== 142,331
403 XX SHHS K20 & 616,766 469,616 147,150
2 474,435
= 142,331
01 AIXISHHM A2 X 616,766 469,616 147,150
OXMAXMNAMMEAIAL JsEZ 616,766
2 474,435
& 142,331
UL LS HFIIXNJLAHS A 279,360 242,880 36,480
308 XHXIGH SO0l & 279,360 242,880 36,480
01 AIKSHHENEXZ 279,360 242,880 36,480
OFMAULAU=ENHFI| NJALMH 29 279,360
oo AASNES ALY 48,000 44,000 4,000
308 MXISHHSOIA 48,000 44,000 4,000
01 IXHHIMNEXS 48,000 44,000 4,000
OHFOMR HAUSX S ALY 48,000
ZOHQl RIEAIS MHEANE 2 1,522,550 1,427,180 95,370
307 212t0| & 1,522,550 1,427,180 95,370
05 QIZ2tREF 2 1,522,550 1,427,180 95,370
SEST HjSE=ENH 29Y 1,390,390
OMIIEXEAMMEHEH 132,160
SEHE=SZHHUSE=EXN2 JsEL 30,000 0 30,000
401 Al HI L £ 0HHI 30,000 0 30,000
01 Al& H| 30,000 0 30,000
OZSE=SZHMNMUSES SN2 S=Z2A 30,000
Zoel(25e) Mss 24 953,880 850,980 102,900
307 212t0| & 953,880 850,980 102,900
05 QIZ2tE 2 953,880 850,980 102,900
OZe(B2FE) sz 29 953,880
O ATHEANE 29 KNS 419,258 373,400 45,858
308 XHXIEH SO0l A 419,258 373,400 45,858
01 AIXSHMEAMNEX= 419,258 373,400 45,858
OZOHAXATHEAE 2HXHA(0|Y) 419,258
ZONQI K HAAISI THEAI A 2L (K REA) 1,679,558 1,478,100 201,458
308 XAXIGHMSO0I& 1,679,558 1,478,100 201,458
01 IXHHNIMNEXS 1,679,558 1,478,100 201,458




AN el 04t

g Foje sxsd

S O MES=sXAMElA 235 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

OANZZeI=X2 2H(01Y) 1,005,971
OOl MEO| SXISHE (0] Y) 182,040
OFUAESAIE 2H(01Y) 228,384
OXOMCITHE A 29 (01) 57,050
O3S HH 29 (01Y) 132,045
OFOfel THItEX SAIMEH 2 (01YF) 74,068

BN 29 123,480 108,063 15,417

308 AKX SHHSOIA 123,480 108,063 15,417

01 AIXHMBAEXZ 123,480 108,063 15,417
O8N 29 123,480

ZOHC JIsEIItHE JH= 13,000 13,000 0

307 212t01 & 13,000 13,000 0

11T A EXAIEEX 13,000 13,000 0
OXOel J1sZIIUaE =l 13,000

ZOHOIMALS THOH 2 H S ALY 40,000 40,000 0

307 212t01 & 40,000 40,000 0

11 AMISAAEE X 40,000 40,000 0
OXOHIMASZ EHO 2 SHALY 40,000

SHEL ZHUMESKNIANYH 29 204,548 191,406 13,142

307 QI2t0| ™ 204,548 191,406 13,142

10 MBI SXAEEE2IHIEX 204,548 191,406 13,142
OS3=EE I MEOsANREEH 25 204,548

SHEL $FEYHNH 29Y 209,610 167,956 41,654

307 QI2t0| ™ 209,610 167,956 41,654

10 M3 SIAIEEHES2IHIEX 209,610 167,956 41,654
OSE=EL 439 dH 29 209,610

HHSHHU (=T FO)Cl ) 65,540 55,540 10,000

Jl=23tl 65,540 55,540 10,000

Jl=2343Hl 65,540 55,540 10,000

201 LEt2 A Y| 17,740 17,740 0

01 At 22l Yl 17,740 17,740 0
OJl2+gHtl 7,240
OPIE=3=2=1:| 10,500

202 04| 37,800 37,800 0

01 2LHOHI 37,800 37,800 0
OJ120 byl 37,800

405 X+H&HF SHI 10,000 0 10,000

01 A&t = S F SHI 10,000 0 10,000




A el Zoel

H: HER2GEU (= FOHel )

¢l =gl (chel & 9l)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OLE=S 3ARH 1,600
O&EX= AL 4,900,000 = 1CH 4,900
OZdZggl 3,500

_20_




